[ Efficiency vs vertpos |

0.4

0.09
0.08

0.07

0.06
0.05]

0.04

0.03

0.02

0.0

0

0.9

0.8

=
2
N

Efficiend

0.1

1

IIII|-I—I—I—I"—I—I-I'IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
=
i

10

[ fake+duplicates vs vertr |

1

10l 1 |||||||!

s

10?

—=— DQM_CKF

—— DQM_BDT_CKF

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02

0,015+ oo ooty 5

0

t"o“q

0.9

0.8l

| RET T

[ Efficiency vs. sim PV z |

0.0

0.009
0.008
0.007
0.006
0.005
0.004
0.003
0.002

0.001

T T T

FRVS)

0.95

o
©

1

= P e O OO OO

YR S
0.6
0.4

0.2

1

0.8

0.6

0.4

0.2




	Contents
	Page 1


